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We are given with the following graph betweenPandT. PV :=nRT

| fde] e " | Lo P
- P

p = density RT

Choose the correct option.
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De broglie wavelength of electronin n = 4..is _n Q,..... where q,is bohr radius.
F
21\7\:V\> A -052q

2R N 2 ‘60\)
/\ = i - N< :(7:]

AT QA
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The reduction potential of hydrogen electrode in pure water is zero at 25°C.
Then what is the pressure of H, (in bar). F r\)
( Noanss U\/

@ 10-'4 ZHJ +ZQ‘ som, H’Z/

() =157 ™
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Find the molarity of 5.85 gm of NaCl solution containing 500 ml.
0 : . (o | :
el rr JL'\)a&(jwr_({) (1 )”\(FJ(' e IU\'M

@ 0.2 M Mmg: V«!«Esc,{"‘muf

— - 53 - (—)——};OZ'VK/
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For the titration of 20 ml KMnO, with 20 ml, 2M oxalic acid in acidic medium

find molarity of the KMnO, solutlo}V ’*'\“‘1
(( M n - T~

LY
MM (Z'—B)L\ (n 2,)
moed O/L \<MMDL{;MULQILH (Z—OW \ N|\f\’:

/b_
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n _ Ea
1 Ko o 12 Tov - £ S RT
“ K, A | l:a/

| e koo 7
Enet = 400 kcal/mole - S b c.
E,. =200 kcal/mole @ T R LY
E,, = 300 kcal/mole
For above data the value of E,_ is kcal/mole. at constant temperature

E, = Activation energy} £
: +F -

{ k = rate constant Em,{, — EZ E_5

\33:\015
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#Q. 2ml KMnO, aqueous solution is titrated against 20ml, 2ZM H,C,0,
aqueous solution in Acidic medium, then Molarity of KMnO, solution
IS ? |Stoichiometry - Easy]
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Which of the following have maximum dipole moment ?

~
. 0
P v, IF/P 2N ]
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Which one of the following Elemental shows one oxidation state other than its
Elemental state?

@CU @ e GJMY]/ CW.Z"]?

11

~
B) sc ’ 4 a
| |

(R =1 7 3
®© n KONy
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Which of the following is the correct order of first ionization enthalpy?

€ w
B<Be<O<N<F ‘
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Number of complexes from the following with [even number of unpairedj
electron is:
[Cr(H,0)¢]2*, [Fe(H,0)¢]2*, [Ni(H,0)¢l2%, [Cu(H,0)]2*, [V(H,0)4]3 @
L e O ¢ O, @y .
AR I ANEY B VEEY M < AL b

3+
[Co (H{O)C i\ (031’ : d(‘

Cﬁf@ Q’ SF
‘g :
VF

L FL +# 4 H
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In analysis ofEBrd group|of basic radicals, why NH,OH is added in presence of
NH,CI?

@ To reduce NH,* ion concentration A [ . i 13 £, +3
/ /
To reduce OH™ ion concentration |1 YOH ) ‘l % \
@ To increase NH,* ion concentration Al (OH);; | Cy (k) e (sK) [}
l" 81 3
@ To increase OH™ ion concentration °H l - -
OH Lok

Al (QH\;
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How many of the following compounds are sp?® hybridised?

ClO,-, ClO,~, NH,, NO, ©
6 &f 8 ©)
) Iol \0- o// \0_ h 'T \0
1“’ = -
MP+3ta QP+ 254 \P+354 TRt



Formula of sodium nitroprusside is: @

—QON = ©°
@ t‘laz[Fe(CN)sNo] [ g?"

Na,[Fe(CN),NO] N“olg + ‘\)q{[% (00)5(‘\%?] /—\
@ NO4[Fe(CN)5NO] *d + = '\C_l

@ Na,|Fe(CN),NO]
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Decreasing order of the field strength of the following ligands will be:
CO,CN-, CI-, H,0

@ CO > CN->H,0>Cl-
CO > CN- > CI- > H,0

@ CN->CO > H,0>CI-

@ CN-> CO > CI- > H,0
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dt [Motion ina ad- Liae
Q- %{_ - 12{1-« 26t Ve ab le aad«-ﬁ«]
&
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¥ [AH{M&}\ Cuoen)—

Find I, where I = 6 + V56 sin(100 nt + nt/3) eMS \,

T - 6+|5¢ Sin(leoxt + X
N\ ¢
Reot Mesn SVA«M.

_— [mm Saliant s ?5]

i

= 3¢+ 56 Sin (1@nt+ X))+ 1205 Saliwrt+X)

2 L
Tawg s 36+5¢aL 4o

]
~ 3€+23 ~.\1\<1 :AEL
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Ball is thrown from height@it rebounds t@Loss of energy and velocity before it
) — ——
reaches ground respectively are....

[ka,?::w & Fnualj @

A 50%.../gh

/ 50% +/2gh..... '
€ 40% Jgh

D 10% /2gh
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De Broglie wavelength of electroninn=4....is_ ma ......, Where a is bohr radius
\ nh ENOM"C S Aruchre, &ol»\'ung
S ) AKX
‘( \)rr " .A_b.
— 7—[0 ] | S— .l | .3
L |

2% . AN

>\ _ InY QY
N
_ 4_"_'\_10] gt MBS
~ L



JEE MAIN 2024 =« PAPER DISCUSSION

Magnitude of current is zero when voltage is maximum when

[A ROOYYNE na Cmcn}J
A pure inducsc)}/ QU

B pure capacitf}/ u'f

€ pure resistance

D combination of inductorjl(d capacitor
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A body travel 102.5 m in n*" second and 115.0 m in (n + 2)* sec. find acceleraﬁon&;ne majics !9

102. §en aa "Een Um‘fﬂ""
D e EE— 6\9 943 oalkr«f“
e — ez -—>V+30Q
(0-) V n v+ o nyy V=20 N+
¢
voz.sz\"‘"*“ 1 m YrF sloXs
>N
v+ 30 ¥+ 2% . Ng
ns = _\7_*_21____ )\ e
%6 v VU8
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A rod of uniforms mass density of mass@and lengt@bent into a semi circle a mass m is

L

[GYC\’“"G" v'n]

placed on the centre of circle then the gravitational force is
Grmsa(%)  wReL

{: ¥ R 9/2_ T

. GhMm 3\'0(7\,1)

Ra_ Ny

QGMm
R R*
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Celsius scale 40 C increase then find the increase in temperature on Fahrenheit scale

. 3
afF-32a

8
- 2 S /ﬂ\e) momd"'a,
.. -

——
~
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Five identical convex lenses are placed one after the other in close contact.The power of
this arrangement is 25 D. Then, the focal length of one such lens is [Q. 0‘7%‘0\]

D:5D Combina)im of
A 10D {z leo _ b
= »
}/sn

€ 125D

D 20D
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Lven)
2 A cubical arrangement of 12 resistors each having resistance R is shown.pﬁnd l.[ €lechn C,-.;.’]

_3K
RU\"—ZT 2D Netwea k
A V,/3R .
e
y Vo/6R 1 3
i

€ V,/4R y

D) v,/8R . l|
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Clectwe Chagen & field

Infinite charge sheet in x - y plane of uniform surface charge density ¢ and infinite
long wire of linear charge density A placed at (0,0,4) and o = 24 then if net electric

field at (0,0,2) is:%ﬁnd the value of x ? A s = __.1*7'”')‘ v
0
= T 2k \ e
el T 28, RS i E“‘zg‘
AR B CLN
) ’( £, 4wnE, X

2 .
T "
- &, 4xE

- A ‘-_‘__ T =2
T P Qe V«v\-\j\

qe, L%
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l/gm KL m{‘—

On a given rough incline plane, a §olid sphere and @ hollow cylinderNhaving the same

radius are rolled one by one, with same speed. Ratio of eights attained by solid sphere
[Qoi """J

' a ! o
= —_—Tw = M H
7™V 3 \

.
\ _\l - H
B 3/10 < m\”*?‘[k] g

%7/10 8!&5“-"‘“'\ [H»%]{ % %E"*}E* \)t-s "‘a"‘\
_1 -1 X -\—,- =

D 6/10 ﬁo\\ouon'\"' H, f'[‘*‘]az 1[ ¥ -nR:]

M

and hollow cylinder is

A 9/10

3
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an electron is moving in a circular path around a long straight wire carrying uniform
charge density , then variation of its Kinetic energy with radius of circle is
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A wooden block is initially at rest on a smooth surface. Now a horizontal force is applied

on the block which increases linearly with time. The acceleration time (a - t) graph for the
block would be

u‘ P

F"—o
A D | —.
U
>l >t F:ma
a A a4
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An electron is projected along the axis of solenoid which carrigs constant current i, the
trajectory of electron shall be : M«amﬁc € ffect of Curne u]

A Circular path

\B/niform motion along the axis

€  Uniform accelerated motion in straight line

D Parabolic path
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Which graph correctly represents the photo current (i) vs stopping potential (V_) for the
@ut different intensity ? (here, I, > 1,)

e
l Il l ll
A I, }/ I

Vs Vs

i | i
1 t I,
c [, D f I

Vs Vs
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Consider the network shown :
The equivalent resistance of the network is

‘5‘“’ IS»10 »6*“"
2S i 150
A 12 Q) *Wye

| 0. ' 10Q

= Q)
B 36Q +Z\' 4 R | .-8\,

c 200 ,\\I_‘ we]

y.




JEE MAIN 2024 © = PAPER DISCUSSION

The Equation of stationary wave is given as y = 2Asin cos @,then which of the
n
2K -+
PN

2% alt |
. . . A f
A Dimensionof xis[L] [._7
[L'TU]—T
B Dimensionofnis[LT ] F L

‘7/ Dimension of = is [T
| A7

D Dimension of nt is [L]



JEE MAIN 2024 =+ PAPER DISCUSSION

Because of force (separately) o%elongation in spring are found to be ‘a’ and ‘b’
unit respectively then (2a - 3b) is .zxi _ Fak
- A & k | P-
3 T k (7 N D o e K
2:kb 35 p. 2
ke
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The resistance of the platinum of a platinum resistance thermometer at the ice point and
Steam point are 8 ohm and 10 ohm respectively. After inserting in a hot bath of

temperature 400°C the resistance of platinum wire is R-R 4en-0
& .
2a Chote 'K oS . o 2
N e
0'c @ ST 160 < 4O <
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In potentiometer experiment , find the_internal resistance of battery wherﬁl:lo ohm jand
the balancing length is‘lSOO aand wherIRzl ohr;)length is EOOm}

R

LR ¥

e
.
R +y

<10
- XS o(1ty) €
16 47Y ral_ . -~ (1

-y 10 +7X

-&_ —,K\"ﬁ (10*<,°\:50+qv

o
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For a moving particle in x-y plane the coordinates of the particle is given
X=2+4t, Y =2t + 412 Y.: 4 \7)= 24%F O+:o, Oy: R m/p>

1

A particle is moving in a straight line with uniform acceleration
B particle is moving in a straight line with non uniform acceleration \ %
C article is moving in parabolic path with uniform acceleration

D  none of these
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For two forces vectors@and@the magnitude of F, is 3 times F, and the resultant
magnitude is equal to F, then the angle between F, and F2 is cos™!(1/n) then U—s ?

L, =3F ;/ 90 cos0= f %
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If f(x) = {x 2 0=x=2 and h(x) = f(x) + If@)], then [PhGodx is

equal to .(k>0) >
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: 1,15
Find the number of rational iimbers in the expansion of (25 +53) -

® o Tows. fe Mol
16=Y [V
@ Y05 /'j@(&é E <99 Reputig




IS +82
If the

then 3a + 10 is equal to /\/

’\f\/\,J

2_3x-10

C
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%ain of the func;mn sin~! (;_ : 9) + log, (3x 8“5) (a, B,

t (olevo

gxq'—g'lf'ﬁ; S e
@ 100 = K 3]( = < s o‘ é{ — 310 9, Yl
é)x -19 3 4 ‘5
95 '\/\\E\,\/v\( 7 L' Q‘X-‘)—)(x"'
0 < U - 21_r | p -2 _J' £ 0- ('1-!»1) (1-—'5) (
- o h s
sl - | —t] %\-r"
0 Ko e § D _ ' c3 g W
@ 98 -9 24 -9 S 2 5
o—0
B D A e S S
i 2
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Let f(x) = x> + 2e*/* for all x € R. Consider a function g(x) such that
(gof)(x) = x for all x € R. Then the value @3 '(2) is

@ 4&- &(ﬁm) 'S C{m = | .

\®/16 Q(T,,(f(u))f,(x):l - <
| L = ( - ‘ T -
® s J40 s e > ®)

® : \ e o
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Let a, B € R. Let the mean and the variance of 6 observations -3, 4, 7, -6, a, B
be 2 and 23 respectively. The mean deviation about the mean of these 6
observations is 2

ey C

J+«¢F
16 'E//’——*\~
O 3 <{«+f>

.
iifzjb/+%ijQ

5 Gk’:’i&:ﬂ
6 3
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X = 0 ‘P - 4 '
Let a and B be the sum and the product of all the non-zero solutions of the

equation (z)? + |z| = 0,z € C. Then 4(o? + B?) is equal tg
‘/ ‘_ Coenplex
@ 6 2 o @ - q(OLH-L) @ @ roplex N0,
Z 3 & 2 >0
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Three urn A, B, C, A has 7 red and 5 black balls, B has 5 red and 7 black balls, C

has 6 red and 6 black balls. One urn is selected and black ball is taken out.
Find probability that the selected urn is A.

7
® :
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/& slnzx
Find value of dx.

0 1+sinxcosx
*) < 7o
s | o
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Q
If 2 and 6 are the roots of the equation ax? + bx + 1 = (l\then the quadratic
| 1 .
equation whose roots are e and eeep —b _q [ Quqcp
‘ A

@ 4x2+14x+12=0

2x+11x+12=0

@ x2+10x+16=0
\@x2+8x+12=0
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ks
o O |
Let the sum of the n,a@:nm and the minimum values of the function

~ 2x%-3x+8, m . .
f(x) v FTwT be;where gcd(m,n)=1,thenm + nis equaLtg/ @
- 6
0y E /\ d ,,( 1§ - 6= .
= §(—q)l+8 0

: Medlum)
®) 195 R dzl — ) b————
L : J1;31+8 go‘tm,é . L\_W
@/201 Quad. : == _& 944 % i
\ : Qx-r% 3 i > (6)
@ 217 920 ‘ g -
: 0?17_9_ 6(“,’!]‘)[%/“)) ' A 1 _8_ >/ 8
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~G-2)

A square is inscribed in the circle x* + y* — 10x — 6y + 30 = 0. One side of
this square is parallel to y = x + 3. If (x,, y;) are the vertices of the square, then

o 3 ; oS -
Y G = 5 +7 +9 +3
g 2
+51+31+7}H
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In triangle ABC, 5 points are on side AB, 6 points on BC & 7 points on CA. Find
the number of triangles formed with these points.
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-t

—

Find f i s'"zf gx. @ /_\ -““‘S’“”’"

-m/2 i+4 /\KP. 2 @
N Llown) g —OQ)
\®/§ T = ~J17 St :

= A

8 otI } fyw_— .&&:'( (M e = &f &w\z'b\

© 9, T v L ik
: g [l - s
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0
The coefficient of x7 in (1 — x *,\;2 +x°) . t (Dinowtnl.
132 . .
(- 2)
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/‘ =3
If the length of focal chord of y* = 12x is 15 and if the distance of the focal
chord from origin is p, then 10p? is equal to

@ 3 = =
P(t) 3(&1’,&&)

25 =g
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(5x+1)1/3-(x+5)1/3  m(5)1/?
"!rl 1 (2x+3)1/2-(x+4)1/2  n(2n)2/3° e 8m+ 12n " ’
G ey 436 :.
~2 -1./}
< 3 v r
L (s_tj BT —("“3) -
‘/ (?—113)1;./'( - (1_\45»2. 1 ( ) i
51 — LY “
() z ) (5) ({)

/@ﬁ@x&
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® Moot
Let the first three term 2, p and ¢ win’® of a G.P. be respectlvely e 7th
'y

8" and 13" terms of an A.P. If the 5" te the G.P. is the n'" term of the AP,
then n is equal to Q-=-dJ-6d =-46 y

o 169 3 P, q/ C?O-}Gd o &z" -_\(i-}é'\-l)d:/

&_Y g L84 - af}} \ C,,
B) 177 D A+ 1d =av - et 21 -

— —Yg +(n-1
d<dr-2 (2"-?-) T A 4(6) =-4640-1)8

@ 163 for-lac vy R HUErl =ty
[ZYHO-D 5
b 't Y+b =0
§=15

16) —!:'
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x<0 "g"('-(gﬂ):é Contiousty ¢ Duf

Iff(x) = 2, *3 x = 0 is continuous at x = 0, then a? + B% equals to @
X

pBV1-cos | x_>0 \ ‘H~\

l ' B.g| «*.a
O LHNE 4D 715
@z pal o
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lffl -y= 1®4sinx and y(0) =1, then y (32'-) + 10 is equals to L o

=

TF -
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R
f i 0 XKt
i
-
- —AA:A"‘ 2 19 conn € ol
(- 3
J L 4
- ) _ (e
= =@ Adma T (-on* € g L X €
- J
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8 - 2 = Sanenyis * 26 T
T
@)5 %+3L+¢11‘&1+&}/\i}‘___L*)w‘(lﬂ“’*) - o(+P
(‘L tO)(042) + Qx (x*+1) o (’L ! (’“‘4”"—) 2.

&3 - o 4
@ ; (ffﬂ) <m+ax+ ?_) Z}a u)ﬂ ,L?T'r,m
2

J O
@ m d = +QNC‘(‘L*H) + et —y/
6 3¢
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Ifcisa variaMr and ¢ makes angle of 45°®ith b and 60° with @,
where b = i —kand d@ = 2i + 2j — k, then |[¢ + 2a@ — 3b|is = [T+ y(@|" 1 ¢ (3]"







